9. Statistics ¥Rt

« Mean and variance Y15 & 9EX
» Expected value HR{FE
« Models of probability events #EXRERES )L
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>> X = randn(10000,1);
>> mean(X)

ans = 0.0034172

>> wvar(X)

ans = 1.0268

>> X = rand(10000,1);
>> mean(X)

ans = 0.50384
>> wvar(X)
ans = 0.083720
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>> X = randn(10000,1);
>> std(X)

ans = 0.99576

>> ggrt(var(X))

ans = 0.99576

>> median(X)

ans = -0.0051996



>> hist(rand(10000,1),30)
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>> hist(randn(10000,1),30)
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>> X = randn(10000,1);
>> mean(X)

ans = 0.0034172
>> wvar (X)
ans = 1.0268

>> X = rand(10000,1);
>> mean(X)

ans = 0.50384
>> var(X)
ans = 0.083720

>> X = randn(10000,1);
>> std(X)

ans = 0.99576

»> sgrt(var(X))

ans = 0.99576

>> median(X)
-0.0051996

ans =



HA{F{E(Expected value)
o HMESRZEN X DHAFFHE E[X]
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E(X)=1000%x1/6+2000x1/6+3000x1/6 + 4000x1/6 + 5000x1/6 + 6000x1/6=3500



HA4FE (Expected value)

* HIDASA RDOYA

>> X=rand(10000,1);

>> Y=floor(X*6)+1,;

>> mean(Y*1000)
ans =3445.2
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ZAR7E(sample variance)
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>> X=randn(10,10000); >> X=randn(10,10000);
>> m=mean(X); >> m=mean((var(X))
>> Y=mean((X-ones(10,1)*m)."2);, ans =1.0005
>> mean(Y)
ans =0.90047
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>> randp(4,1,10)
ans=

7 3 4 4 6 4 5 4 3 3
>> hist(randp(4,1,10000))
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P[X =k] = (Z) p*(1—p)* %  fork=01.2,..,n

(n)_TlX(Tl—l)...X(Tl—k+1)

1) = X - D %1 nchoosek(n,k)
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>> X=rand(1,10)<0.4; 5 A NREYENY0.4KEm Capnidl
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ans=0 0 01 01 1 1 1O
>> sum(X)
ans=5
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>> Y=sum(rand(10,10000)<0.4);
>> mean(Y)
ans=4.0098

E[X]=np=10%*0.4=4.0




2183 DIERS
+ BRICRSESEADN— B3, 528 AICIKRARH— R EDE
DA~ RN FEY 3. |
10EHT> COEIERLITBE, BRENELNZBN? [O|+[€{§ [I:IH{I:]

e BEEHNBTRULRS  BRIEUVWERXZENC ENTETINEIESE
(CT>ANTHD. DC:Dp=1/SODﬁE$_C‘IEﬁ$7ZLi_EE‘{.

- 1FfR7ZESNOENIS2I8mB(10,p)

« 10[O]FRKk[O]FfAE T DMERp(X=k) k=1,2,3,ZsTHE I DIC(Z
>> for k=0:10, nchoosek(10,k)*0.2*k*(1-0.2)*(10-k), end
ans=0.10737 k=1
ans=0.26844 k=2
ans=0.30199

ans=0.088080

ans=0.026424
ans=0.0055050 k=6 6 [O]IE R C = DHEXR(ZL0.6%IEE
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Exercise 9.1
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Hint: & dHABOFEEEEZZFRS T ILIFNRI7Y > 55 => randpZ{ED




